Aufgabe 1:
Quadrat

AY

Umfang:U=4*a=4*4cm=16cm
Flache:A=a*a=4cm*4cm =16 cm?

Nur ein Koordinatensystem?

Aufgabe 2:

Parallelogramm

Flache:A=g*h=4cm*3 cm =12 cm?
Umfang: U=2*AB + 2 * AE
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AB=4cm
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AE="?

AE = (32+22) = 3,6 cm

U=2*4cm+2+3,6cm
=15,2cm

Aufgabe 3:

Ui=d*T=2cm*3,14=6,28 cm

n

U=d*f=4cm*3,14=12,56 cm
Ai=r2*q=(1cm)2* 3,14 = 3,14 cm?

Ax=r2*q=(4cm)2* 3,14 = 12,56 cm?
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Aring= A2 - AL = 9,42 cm?
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Aufgabe 4:
Rechteck

Umfang:U=2*a+2*b

=2*3cm+2*1cm=8cm

Flache:A=a*b=3cm*1cm=3cm?

Aufgabe 5:

Quader

V=G*h=16cm2*3 cm =48 cm?3
0=2*G+U*h

=2*16cm2+ 16 cm* 3 cm =80 cm?

G=2*U+4*h

=2*16cm+4*3cm=44cm

Aufgabe 6:

Parallelogrammséule

V=G*h=12cm2*2cm =24 cm?3

0=2*G+U*h
=2*12cm2+15,2cm*2cm = 54,4 cm2

G=2*U+4*h

=2*12cm+4*2cm=32cm

Aufgabe 7:
Quader

V=G*h=3cm2*4cm=12cm3

0=2*G+U*h

=2*3cm2+8cm*4cm=38cm?
G=2*U+4*h

=2*8cm+4*4cm=32cm

Aufgabe 8:
Zylinder

V=G*h=3,14cm2*5cm=15,7cm3

0=2*G+U*h

=2*3,14cm2+6,28cm*5cm = 37,68 cm?

G=2*U=2*6,28cm=12,56 cm

Aufgabe 9:

16 cm2 # 100 %
12 cm2z# X
3cm? # X
12,56 cm2 # X

(ABDC)

(ABFE) > x=75%
(HUK) > x=18,75%
(Kreis2) > x=785%

Aufgabe 10:
Flache ABDC = 16 cm?

Parallelogramm Flache: A=g*h >
l6cm?2=4cm*h > h=4cm
E'2,711) F(6,711)

Aufgabe 11:
(-411) K'(-4]-2)

Aufgabe 12:
V=G*h:3=2cm*3cm*3cm:3=6cm3

Aufgabe 13:
G'(-1,5|3,5)

Aufgabe 14:
V=G*h:3=3,14cm2*6cm:3=6,28cm?3




